CITY OF GRIFFIN GRIFFIN GOLF COURSE BRIDGE REPLACEMENTS BID TABULATION

				North Georgia Concrete		Piedmont Paving, Inc.		Helix Grading & Utility LLC		Crawford Grading & Pipeline, Inc.		McLeRoy, Inc.		Cline Serv	vice Corp.
Item	Description	Unit	Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
	BRIDGE A		1									NO	BID	NO I	BID
	GENERAL														
1.	PAYMENT & PERFORMANCE BONDS	LS	1	\$7,581.60	\$7,581.60	\$5,856.29	\$5,856.29	\$9,800.00	\$9,800.00	\$15,000.00	\$15,000.00		\$0.00		\$0.00
2.	GENERAL CONDITIONS	LS	1	\$10,171.98	\$10,171.98	\$18,185.15	\$18,185.15	\$85,000.00	\$85,000.00	\$15,000.00	\$15,000.00		\$0.00		\$0.00
3.	CONSTRUCTION STAKING BY REGSITERED SURVEYOR	LS	1	\$2,527.20	\$2,527.20	\$17,433.35	\$17,433.35	\$9,250.00	\$9,250.00	\$9,000.00	\$9,000.00		\$0.00		\$0.00
4.	AS-BUILT SURVEY BY REGISTERED SURVEYOR	LS	1	\$1,895.40	\$1,895.40	\$5,918.75	\$5,918.75	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00		\$0.00	1	\$0.00
		1	Gei	neral Subtotal =	\$22,176.18		\$47,393.54		\$107,050.00		\$45,000.00		\$0.00		\$0.00
	DEMOLITION/REMOVAL													<u> </u>	
5.	COMPLETE DEMOLITION OF EXISTING CONCRETE BRIDGE INCLUDING OFFSITE DISPOSAL	LS	1	\$34,052.34	\$34,052.34	\$11,939.02	\$11,939.02	\$30,000.00	\$30,000.00	\$42,000.00	\$42,000.00		\$0.00		\$0.00
6.	SAW CUT ASPHALT (VARIOUS DEPTHS)	LF	130	\$2.35	\$305.50	\$6.60	\$858.00	\$6.00	\$780.00	\$20.00	\$2,600.00		\$0.00		\$0.00
7.	REMOVAL OF ASHPALT PAVING COMPLETE INCLUDING OFFSITE DISPOSAL (VARIOUS THICKNESSES)	SY	163	\$52.86	\$8,616.18	\$22.27	\$3,630.01	\$85.00	\$13,855.00	\$80.00	\$13,040.00		\$0.00	1	\$0.00
8.	REMOVAL OF DEBRIS AND CONCRETE IN STREAM	LS	1	\$3,360.20	\$3,360.20	\$3,184.52	\$3,184.52	\$11,250.00	\$11,250.00	\$7,000.00	\$7,000.00		\$0.00	1	\$0.00
9.	REMOVAL OF EXISTING GATES & POSTS	LS	1	\$442.26	\$442.26	\$544.24	\$544.24	\$500.00	\$500.00	\$2,000.00	\$2,000.00		\$0.00		\$0.00
10.	REMOVAL & DISPOSAL OF CONCRETE POURED WALL SECTION (VERTICAL SAW CUT INCLUDED)	LS	1	\$5,646.33	\$5,646.33	\$10,150.91	\$10,150.91	\$1,750.00	\$1,750.00	\$15,000.00	\$15,000.00		\$0.00		\$0.00
11.	REMOVAL & DISPOSAL OF STACKED CONCRETE WALL SECTION	LS	1	\$3,360.20	\$3,360.20	\$6,413.29	\$6,413.29	\$1,750.00	\$1,750.00	\$10,000.00	\$10,000.00		\$0.00	1	\$0.00
		Den	nolition/Rem	noval Subtotal =	\$55,783.01		\$36,719.99		\$59,885.00		\$91,640.00		\$0.00		\$0.00
	NEW STRUCTURE - CONTECH ALUMINUM BOX CULVERT #51														
12.	ALUMINUM BOX CULVERT ASSEMBLY & INSTALLATION INCLUDING ALUMINUM WING WALLS COMPLETE	LS	1	\$34,303.17	\$34,303.17	\$56,892.94	\$56,892.94	\$32,500.00	\$32,500.00	\$110,000.00	\$110,000.00		\$0.00		\$0.00
13.	ALUMINUM BOX CULVERT FOUNDATION SYSTEM COMPLETE PER PLANS	LS	1	\$19,067.72	\$19,067.72	\$51,993.44	\$51,993.44	\$100,000.00	\$100,000.00	\$80,000.00	\$80,000.00		\$0.00		\$0.00
14.	PREPARATION FOR INSTALLATION OF CONTECH STRUCTURE, WING WALL EMBEDMENT & TIE BACKS	LS	1	\$8,575.80	\$8,575.80	\$52,972.10	\$52,972.10	\$38,500.00	\$38,500.00	\$8,000.00	\$8,000.00		\$0.00		\$0.00
15.	#4 STONE FOR FOUNDATION BASE	TN	35	\$67.36	\$2,357.60	\$101.29	\$3,545.15	\$165.00	\$5,775.00	\$100.00	\$3,500.00		\$0.00		\$0.00
16.	G.A.B. IN PLACE FOR BACKFILL OF CULVERT & WINGWALLS	TN	591	\$75.19	\$44,437.29	\$68.92	\$40,731.72	\$140.00	\$82,740.00	\$75.00	\$44,325.00		\$0.00		\$0.00
17.	ASPHALT PAVING (6 : 2 : 1 1/2) SECTION)	SY	163	\$183.48	\$29,907.24	\$102.52	\$16,710.76	\$186.00	\$30,318.00	\$160.00	\$26,080.00		\$0.00	ı	\$0.00
18.	GRADING COMPLETE (TOPSOIL & FINE GRADING)	LS	1	\$49,518.85	\$49,518.85	\$13,492.84	\$13,492.84	\$71,500.00	\$71,500.00	\$10,000.00	\$10,000.00		\$0.00		\$0.00
	New Struction - Contech A	4 <i>luminum</i>	Box Culvert	t #51 Subtotal =	\$188,167.67		\$236,338.95		\$361,333.00		\$281,905.00		\$0.00		\$0.00
	ASPHALT PAVING & CONCRETE FLATWORK														
19.	8" REINFORCED CONCRETE BRIDGE SLAB INCLUDING REINFORCING PER DETAIL	SF	540	\$35.35	\$19,089.00	\$63.15	\$34,101.00	\$44.00	\$23,760.00	\$70.00	\$37,800.00		\$0.00		\$0.00
20.	32" TALL CONCRETE BARRIER	LF	56	\$385.71	\$21,599.76	\$520.11	\$29,126.16	\$205.00	\$11,480.00	\$400.00	\$22,400.00		\$0.00		\$0.00
21.	CONCRETE CURB AT BASE OF BARRIER ON BRIDGE	LF	56	\$111.39	\$6,237.84	\$79.42	\$4,447.52	\$41.00	\$2,296.00	\$80.00	\$4,480.00		\$0.00		\$0.00
22.	CONCRETE AT CART PATH - 5" THICK	SF	245	\$16.98	\$4,160.10	\$15.56	\$3,812.20	\$36.00	\$8,820.00	\$80.00	\$19,600.00		\$0.00		\$0.00
	, and the second	Paving & C	oncrete Flat	twork Subtotal =	\$51,086.70		\$71,486.88		\$46,356.00		\$84,280.00		\$0.00		\$0.00
	EROSION CONTROL & DIVERSION														
23.	TYPE 'C' SILT FENCE INLCUDING MAINTENANCE & REMOVAL	LF	525	\$3.80	\$1,995.00	\$9.31	\$4,887.75	\$6.00	\$3,150.00	\$6.00	\$3,150.00		\$0.00		\$0.00
24.	SAND BAGS FOR FLOW DIVERSION, INCLUDING MAINTENANCE & REMOVAL	LF	140	\$2.44	\$341.60	\$22.28	\$3,119.20	\$100.00	\$14,000.00	\$40.00	\$5,600.00		\$0.00		\$0.00
25.	FLOW DIVERSION & FOUNDATION EXCAVATION WATER CONTROL BY CONTRACTOR MEANS	LS	1	\$10,045.62	\$10,045.62	\$29,076.94	\$29,076.94	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00		\$0.00		\$0.00
26.	HAY BALES, INCLUDING MAINTENANCE & REMOVAL	LF	100	\$12.96	\$1,296.00	\$12.63	\$1,263.00	\$9.00	\$900.00	\$30.00	\$3,000.00		\$0.00		\$0.00
27.	BERMUDA SOD	SF	550	\$1.90	\$1,045.00	\$2.48	\$1,364.00	\$6.00	\$3,300.00	\$8.00	\$4,400.00		\$0.00		\$0.00
28.	STRAW/COCONUT MATTING	SF	600	\$0.26	\$156.00	\$2.85	\$1,710.00	\$3.00	\$1,800.00	\$5.00	\$3,000.00		\$0.00		\$0.00
29.	GABION EROSION SYSTEM - SCOURLOK	LF	44	\$269.73	\$11,868.12	\$379.38	\$16,692.72	\$1,475.00	\$64,900.00	\$300.00	\$13,200.00		\$0.00	1	\$0.00

Item	Description	Unit	Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
30.	REINFORCED SLOPE STABILIZATION - ARMORMAX	SY	42	\$185.22	\$7,779.24	\$112.32	\$4,717.44	\$370.00	\$15,540.00	\$200.00	\$8,400.00		\$0.00		\$0.00
31.	TEMPORARY GRASSING, INCLUDING MULCH	SF	650	\$1.03	\$669.50	\$0.42	\$273.00	\$2.00	\$1,300.00	\$0.01	\$6.50		\$0.00		\$0.00
32.	PERMANENT GRASSING, INCLUDING MULCH	SF	2,000	\$0.38	\$760.00	\$0.41	\$820.00	\$2.00	\$4,000.00	\$1.00	\$2,000.00		\$0.00		\$0.00
33.	TYPE III RIP RAP	TN	50	\$88.94	\$4,447.00	\$89.46	\$4,473.00	\$172.00	\$8,600.00	\$100.00	\$5,000.00		\$0.00		\$0.00
34.	CONCRETE WASHOUT PER PLANS	EA	2	\$947.70	\$1,895.40	\$2,460.82	\$4,921.64	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00		\$0.00		\$0.00
	Ei	\$42,298.48		\$73,318.69		\$144,890.00		\$66,756.50		\$0.00		\$0.00			
MISCELLANEOUS															<u> </u>
35.	ONE WAY SIGNS INCLUDING INSTALLATION	EA	3	\$189.54	\$568.62	\$401.71	\$1,205.13	\$475.00	\$1,425.00	\$900.00	\$2,700.00		\$0.00		\$0.00
36.	SINGLE SWING GATE - 18' LONG	EA	1	\$4,515.12	\$4,515.12	\$4,339.06	\$4,339.06	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00		\$0.00		\$0.00
37.	BARRIER REFLECTORS - SHUR-TITE 3" WHITE	EA	14	\$31.59	\$442.26	\$75.36	\$1,055.04	\$150.00	\$2,100.00	\$250.00	\$3,500.00		\$0.00		\$0.00
38.	4-INCH WHITE STRIPING (PARKING SPACES) THERMOPLASTIC	LF	34	\$1.90	\$64.60	\$27.50	\$935.00	\$50.00	\$1,700.00	\$70.00	\$2,380.00		\$0.00		\$0.00
39.	ROAD BARRICADES FOR TRAFFIC CONTROL	LF	146	\$22.75	\$3,321.50	\$31.51	\$4,600.46	\$75.00	\$10,950.00	\$35.00	\$5,110.00		\$0.00		\$0.00
40.	ORANGE BARRIER FENCE - 4' HIGH	LF	130	\$4.33	\$562.90	\$2.20	\$286.00	\$2.00	\$260.00	\$15.00	\$1,950.00		\$0.00		\$0.00
39.	WING WALL TO EXISTING CONCRETE WALL DETAIL	LS	1	\$4,173.68	\$4,173.68	\$7,230.18	\$7,230.18	\$8,250.00	\$8,250.00	\$10,000.00	\$10,000.00		\$0.00		\$0.00
40.	WING WALL TO EXISTING STACKED CONCRETE WALL DETAIL	LS	1	\$3,920.96	\$3,920.96	\$10,525.70	\$10,525.70	\$8,250.00	\$8,250.00	\$10,000.00	\$10,000.00		\$0.00		\$0.00
41.	36-INCH DIAMETER TREE REMOVAL AND DISPOSAL	LS	1	\$4,548.96	\$4,548.96	\$5,958.92	\$5,958.92	\$6,000.00	\$6,000.00	\$8,500.00	\$8,500.00		\$0.00		\$0.00
42.	TRENCH ROCK	CY	10	\$568.62	\$5,686.20	\$1,004.16	\$10,041.60	\$750.00	\$7,500.00	\$200.00	\$2,000.00		\$0.00		\$0.00
		\$27,804.80		\$46,177.09		\$49,935.00		\$56,140.00		\$0.00		\$0.00			
BRIDGE A TOTAL CONSTRUCTION =							\$511,435.14		\$769,449.00		\$625,721.50		\$0.00		\$0.00

CITY OF GRIFFIN GRIFFIN GOLF COURSE BRIDGE REPLACEMENTS BID TABULATION

		2.5													
				North Georgia C	oncrete	Piedmont F		Helix Grading & Utility LLC		Crawford Grading & Pipeline, Inc.		McLeRoy, Inc.		Cline Service Corp.	
Item	Description	Unit	Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price Item Total	
	BRIDGE B											NO B	ID	NO BID	
	GENERAL	T													
1.	PAYMENT & PERFORMANCE BONDS	LS	1	\$7,581.60	\$7,581.60	\$6,506.99	\$6,506.99	\$10,500.00	\$10,500.00	\$15,000.00	\$15,000.00		\$0.00	\$0.00	
2.	GENERAL CONDITIONS	LS	1	\$10,171.98	\$10,171.98	\$18,185.15	\$18,185.15	\$87,625.00	\$87,625.00	\$15,000.00	\$15,000.00		\$0.00	\$0.00	
3.	CONSTRUCTION STAKING BY REGSITERED SURVEYOR	LS	1	\$2,527.20	\$2,527.20	\$17,433.35	\$17,433.35	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00		\$0.00	\$0.00	
4.	AS-BUILT SURVEY BY REGISTERED SURVEYOR	LS	1	\$1,895.40	\$1,895.40	\$5,918.75	\$5,918.75	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00		\$0.00	\$0.00	
				General Subtotal =	\$22,176.18		\$48,044.24		\$110,125.00		\$45,000.00		\$0.00	\$0.00	
	DEMOLITION/REMOVAL														
5.	COMPLETE DEMOLITION OF EXISTING CONCRETE BRIDGE INCLUDING OFFSITE DISPOSAL	LS	1	\$32,987.83	\$32,987.83	\$12,571.50	\$12,571.50	\$30,000.00	\$30,000.00	\$42,000.00	\$42,000.00		\$0.00	\$0.00	
6.	SAW CUT ASPHALT (VARIOUS DEPTHS)	LF	79	\$2.35	\$185.65	\$6.60	\$521.40	\$6.00	\$474.00	\$20.00	\$1,580.00		\$0.00	\$0.00	
7.	REMOVAL OF ASHPALT PAVING COMPLETE INCLUDING OFFSITE DISPOSAL (VARIOUS THICKNESSES)	SY	162	\$52.18	\$8,453.16	\$22.41	\$3,630.42	\$90.00	\$14,580.00	\$80.00	\$12,960.00		\$0.00	\$0.00	
8.	REMOVAL OF DEBRIS AND CONCRETE IN STREAM	LS	1	\$2,741.31	\$2,741.31	\$5,758.68	\$5,758.68	\$11,250.00	\$11,250.00	\$7,000.00	\$7,000.00		\$0.00	\$0.00	
9.	REMOVAL OF EXISTING GATE & POSTS	LS	1	\$442.26	\$442.26	\$544.24	\$544.24	\$1,250.00	\$1,250.00	\$2,000.00	\$2,000.00		\$0.00	\$0.00	
10.	REMOVAL OF CONCRETE FLUME NOTED ON DEMO PLAN	LS	1	\$5,900.31	\$5,900.31	\$2,853.97	\$2,853.97	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00		\$0.00	\$0.00	
			Den	nolition/Removal Subtotal =	\$50,710.52		\$25,880.21		\$60,554.00		\$75,540.00		\$0.00	\$0.00	
	NEW STRUCTURE - CONTECH ALUMINUM BOX CULVERT #52														
11.	ALUMINUM BOX CULVERT ASSEMBLY & INSTALLATION INCLUDING ALUMINUM WING WALLS COMPLETE	LS	1	\$34,303.17	\$34,303.17	\$56,892.94	\$56,892.94	\$32,500.00	\$32,500.00	\$110,000.00	\$110,000.00		\$0.00	\$0.00	
12.	ALUMINUM BOX CULVERT FOUNDATION SYSTEM COMPLETE PER PLANS	LS	1	\$19,067.72	\$19,067.72	\$51,993.44	\$51,993.44	\$90,000.00	\$90,000.00	\$80,000.00	\$80,000.00		\$0.00	\$0.00	
13.	PREPARATION FOR INSTALLATION OF CONTECH STRUCTURE, WING WALL EMBEDMENT & TIE BACKS	LS	1	\$8,575.80	\$8,575.80	\$48,734.74	\$48,734.74	\$38,500.00	\$38,500.00	\$8,000.00	\$8,000.00		\$0.00	\$0.00	
14.	#4 STONE FOR FOUNDATION BASE	TN	35	\$67.36	\$2,357.60	\$84.30	\$2,950.50	\$165.00	\$5,775.00	\$100.00	\$3,500.00		\$0.00	\$0.00	
15.	G.A.B. IN PLACE FOR BACKFILL OF CULVERT & WINGWALLS	TN	618	\$75.19	\$46,467.42	\$67.71	\$41,844.78	\$140.00	\$86,520.00	\$75.00	\$46,350.00		\$0.00	\$0.00	
16.	ASPHALT PAVING (6 : 2 : 1 1/2) SECTION)	SY	162	\$183.88	\$29,788.56	\$104.11	\$16,865.82	\$186.00	\$30,132.00	\$160.00	\$25,920.00		\$0.00	\$0.00	
17.	GRADING COMPLETE (TOPSOIL, FINE GRADING, & REPLACEMENT OF EXISTING FILL EXCAVATED)	LS	1	\$69,364.30	\$69,364.30	\$21,964.01	\$21,964.01	\$70,000.00	\$70,000.00	\$10,000.00	\$10,000.00		\$0.00	\$0.00	
		Box Culvert #52 Subtotal =	\$209,924.57		\$241,246.23		\$353,427.00		\$283,770.00		\$0.00	\$0.00			
	PAVING & CONCRETE FLATWORK	T				1					1				
18.	8" REINFORCED CONCRETE BRIDGE SLAB INCLUDING REINFORCING PER DETAIL	SF	540	\$35.35	\$19,089.00	\$46.61	\$25,169.40	\$44.00	\$23,760.00	\$70.00	\$37,800.00		\$0.00	\$0.00	
19.	32" TALL CONCRETE BARRIER	LF	56	\$385.71	\$21,599.76	\$520.11	\$29,126.16	\$205.00	\$11,480.00	\$400.00	\$22,400.00		\$0.00	\$0.00	
20.	CONCRETE CURB AT BASE OF BARRIER ON BRIDGE	LF	56	\$111.39	\$6,237.84	\$79.42	\$4,447.52	\$41.00	\$2,296.00	\$80.00	\$4,480.00		\$0.00	\$0.00	
21.	CONCRETE FLUME	LS	1	\$7,849.33	\$7,849.33	\$5,649.37	\$5,649.37	\$8,350.00	\$8,350.00	\$8,500.00	\$8,500.00		\$0.00	\$0.00	
			Paving & C	Concrete Flatwork Subtotal =	\$54,775.93		\$64,392.45		\$45,886.00		\$73,180.00		\$0.00	\$0.00	
	STORM DRAINAGE														
22.	18" CLASS III RCP	LF	14	\$90.75	\$1,270.50	\$143.66	\$2,011.24	\$233.00	\$3,262.00	\$300.00	\$4,200.00		\$0.00	\$0.00	
23.	4' DIAMETER MANHOLE	VF	7	\$696.40	\$4,874.80	\$450.15	\$3,151.05	\$850.00	\$5,950.00	\$1,100.00	\$7,700.00		\$0.00	\$0.00	
24.	4' FLAT LID WITH SQUARE OPENING	EA	1	\$1,230.50	\$1,230.50	\$756.63	\$756.63	\$325.00	\$325.00	\$2,000.00	\$2,000.00		\$0.00	\$0.00	
25.	4X4 RAISED LID WITH PEDESTALS	EA	1	\$2,813.08	\$2,813.08	\$1,494.53	\$1,494.53	\$985.00	\$985.00	\$2,500.00	\$2,500.00		\$0.00	\$0.00	
26.	CONCRETE FILL AT GABION	EA	1	\$3,070.55	\$3,070.55	\$3,575.00	\$3,575.00	\$5,275.00	\$5,275.00	\$21,600.00	\$21,600.00		\$0.00	\$0.00	
27.	CONCRETE HEADWALL	EA	1	\$3,266.80	\$3,266.80	\$2,214.46	\$2,214.46	\$2,100.00	\$2,100.00	\$5,500.00	\$5,500.00		\$0.00	\$0.00	
				Storm Drainage Subtotal =	\$16,526.23		\$13,202.91		\$17,897.00		\$43,500.00		\$0.00	\$0.00	
	EROSION CONTROL		_										4-		
28.	TYPE 'C' SILT FENCE INLCUDING MAINTENANCE & REMOVAL	LF	640	\$3.80	\$2,432.00	\$9.44	\$6,041.60	\$6.00	\$3,840.00	\$6.00	\$3,840.00		\$0.00	\$0.00	
29.	SAND BAGS FOR FLOW DIVERSION, INCLUDING MAINTENANCE & REMOVAL	LF	140	\$2.44	\$341.60	\$22.82	\$3,194.80	\$100.00	\$14,000.00	\$40.00	\$5,600.00		\$0.00	\$0.00	
	FLOW DIVERSION & FOUNDATION EXCAVATION WATER CONTROL BY CONTRACTOR MEANS	LS	1	\$10,045.62	\$10,045.62	\$29,076.94	\$29,076.94	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00		\$0.00	\$0.00	
31.	HAY BALES, INCLUDING MAINTENANCE & REMOVAL	LF	100	\$12.96	\$1,296.00	\$12.63	\$1,263.00	\$9.00	\$900.00	\$30.00	\$3,000.00		\$0.00	\$0.00	
32.	BERMUDA SOD	SF	600	\$1.90	\$1,140.00	\$2.48	\$1,488.00	\$6.00	\$3,600.00	\$8.00	\$4,800.00		\$0.00	\$0.00	
33.	STRAW/COCONUT MATTING	SF	1,000	\$0.26	\$260.00	\$2.85	\$2,850.00	\$3.00	\$3,000.00	\$5.00	\$5,000.00		\$0.00	\$0.00	
34.	GABION EROSION SYSTEM - SCOURLOK	LF	100	\$190.09	\$19,009.00	\$398.46	\$39,846.00	\$1,475.00	\$147,500.00	\$300.00	\$30,000.00		\$0.00	\$0.00	
35.	REINFORCED SLOPE STABILIZATION - ARMORMAX	SY	56	\$167.77	\$9,395.12	\$96.89	\$5,425.84	\$368.00	\$20,608.00	\$200.00	\$11,200.00		\$0.00	\$0.00	
36.	TEMPORARY GRASSING, INCLUDING MULCH	SF	500	\$1.33	\$665.00	\$0.55	\$275.00	\$2.00	\$1,000.00	\$0.01	\$5.00		\$0.00	\$0.00	
37.	PERMANENT GRASSING, INCLUDING MULCH	SF	2,000	\$0.38	\$760.00	\$0.41	\$820.00	\$2.00	\$4,000.00	\$1.00	\$2,000.00		\$0.00	\$0.00	
38.	TYPE III RIP RAP	TN	50	\$88.94	\$4,447.00	\$101.04	\$5,052.00	\$170.00	\$8,500.00	\$100.00	\$5,000.00		\$0.00	\$0.00	

Item	Description	Unit	Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
39.	CONCRETE WASHOUT PER PLANS	EA	2	\$947.70	\$1,895.40	\$2,460.82	\$4,921.64	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00		\$0.00		\$0.00
				Erosion Control Subtotal =	\$51,686.74		\$100,254.82		\$234,348.00		\$89,445.00		\$0.00		\$0.00
	MISCELLANEOUS														
40.	STOP SIGN WITH POST POST COMPLETE	EA	1	\$525.72	\$252.72	\$385.00	\$385.00	\$475.00	\$475.00	\$3,000.00	\$3,000.00		\$0.00		\$0.00
41.	ONE WAY SIGNS INCLUDING INSTALLATION	EA	2	\$189.54	\$379.08	\$330.00	\$660.00	\$475.00	\$950.00	\$900.00	\$1,800.00		\$0.00		\$0.00
42.	12-INCH WHITE STOP BAR - 12' IN LENGTH	EA	1	\$83.40	\$83.40	\$385.00	\$385.00	\$1,228.00	\$1,228.00	\$3,000.00	\$3,000.00		\$0.00		\$0.00
43.	DOUBLE SWING GATE - 10' LONG	EA	2	\$1,693.17	\$3,386.34	\$3,584.28	\$7,168.56	\$3,500.00	\$7,000.00	\$6,500.00	\$13,000.00		\$0.00		\$0.00
44.	BARRIER REFLECTORS - SHUR-TITE 3" WHITE	EA	14	\$31.59	\$442.26	\$75.36	\$1,055.04	\$150.00	\$2,100.00	\$250.00	\$3,500.00		\$0.00		\$0.00
45.	4-INCH WHITE STRIPING (PARKING SPACES) THERMOPLASTIC	LF	40	\$1.90	\$76.00	\$27.50	\$1,100.00	\$12.00	\$480.00	\$70.00	\$2,800.00		\$0.00		\$0.00
46.	CONCRETE DUMPSTER PAD - 10'X10'X8"	LS	1	\$1,339.42	\$1,339.42	\$5,002.83	\$5,002.83	\$12,780.00	\$12,780.00	\$5,000.00	\$5,000.00		\$0.00		\$0.00
47.	ROAD BARRICADES FOR TRAFFIC CONTROL	LF	100	\$22.75	\$2,275.00	\$31.95	\$3,195.00	\$75.00	\$7,500.00	\$35.00	\$3,500.00		\$0.00		\$0.00
48.	ORANGE BARRIER FENCE - 4' HIGH	LF	146	\$4.33	\$632.18	\$2.20	\$321.20	\$2.00	\$292.00	\$10.00	\$1,460.00		\$0.00		\$0.00
49.	45-INCH DIAMETER TREE REMOVAL AND DISPOSAL	LS	1	\$5,686.20	\$5,686.20	\$6,783.92	\$6,783.92	\$6,300.00	\$6,300.00	\$10,000.00	\$10,000.00		\$0.00		\$0.00
50.	TRENCH ROCK	CY	10	\$568.62	\$5,686.20	\$1,004.16	\$10,041.60	\$750.00	\$7,500.00	\$200.00	\$2,000.00		\$0.00		\$0.00
	Miscellaneous						\$36,098.15		\$46,605.00		\$49,060.00		\$0.00		\$0.00
	BRIDGE B TOTAL CONSTRUCTION =						\$529,119.01		\$868,842.00		\$659,495.00		\$0.00		\$0.00
TOTAL CONSTRUCTION FOR BRIDGE A							\$511,435.14		\$769,449.00		\$625,721.50		\$0.00		\$0.00
TOTAL CONSTRUCTION FOR BRIDGE B TOTAL CONSTRUCTION FOR BRIDGE B					\$426,038.97		\$529,119.01		\$868,842.00		\$659,495.00		\$0.00		\$0.00
					\$813,355.81		\$1,040,554.15		\$1,638,291.00		\$1,285,216.50		\$0.00		\$0.00